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Master of Arts 4th Semester Examination
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ECONOMICS
[Opt. (iii) : Mathematical Economics]
(In Al Mediums)
Paper : MAECO-403 & 404

Time : 3 Hours] [Max. Marks : 80

English Medium
Note :— (1) Question No. 1 is compulsory. Attempt any ten

parts of this question. Answer each part in
25-30 words. Each part carries 2 marks.

(2) Attempt one question from each of four Units.
Each question carries 15 marks.

Compulsory Question
1. Answer any tfen parts :
@) Define price elasticity

(1)) Explain Von Newmann Uulity Function.
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(iii) Distinguish between Homogeneous and
Homothetic production functions.

(iv) Define Production Possibility Curve.

(v)  Uniqueness of equilibrium.

(vi) Explain Walras’s law.

(vi)) Conditions for stability of equilibrium.

(viii) Distinguish between open and closed input-

output model.

(ix) Define Dynamic Leontief system.

(x) Define Balanced Budget Multiplier.

(xi) Complementary slackness conditions.

(xii) Max Min Strategy.

(xiii) Strongly and Weakly Donﬁnant Strategies.

(xiv) Define a Fair Game.

(xv) Explain Prisoner’s Dilemma. 2x10=20

Unit-I

2. Write notes on the following :

(a) Linear Expenditure function

(b) Indirect Utility Function 74,77
3. Derive the properties of CES production function.

Show that the elasticity of substitution of CES
1

1+p
substitution parameter. 15
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Unit-II

4. 'Discuss the dynamic market equilibrium with lagged

adjustment and conditions for its stability.

5. State and prove the substitution theorem.

Unit-III

15
15

6. Describe the relative efficiency of Fiscal and Monetary
policies with the help of IS-LM model when both

curves have different slope.

15

7. Explain Joan Robinson’s Model of Growth in the

light of golden rule of capital accumulation.

Unit-IV

15

8. Solve the following L.P.P. by simplex method :

Minimize Z = 3x + 2.5y
Subject to x+ 2y220
3x + 2y 2 50
xy20

9. (@ Explain pure and mixed strategies.

15

(b)  Solve the following two-person zero sum game :

B
5 i 1
A 2 -1 8
I8 -6 10
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